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Kh^_j`Zl�h[sb_�iheh`_gby��hkgh\gu_�jZkq_lu��hij_^_e_gby�Zdlb\gh]h�^Z\e_gby�]jmglZ��jZkq_l�
mklhcqb\hklb� hkgh\Zgby� ih^ihjghc� kl_gu�� jZkq_l� hkgh\Zgbc� ih� ^_nhjfZpbyf�� hij_^_e_gb_�
mkbebc� \� we_f_glZo� dhgkljmdpbc�� ijbf_j� jZkq_lZ� m]hedh\hc� ihe^ihjghc� kl_gu� dhgkhevgh]h��
lbiZ�� 
Ij_^gZagZq_gu� ^ey� klm^_glh\� ki_pbZevghklb 002910 –�:\lhfh[bevgu_� ^hjh]b� b� Zwjh^jhfu�
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�����Ih^ihjgu_�kl_gu�ijh_dlbjmxlky��dZd�ijZ\beh��gZ��_kl_kl\_gghf�hkgh\Zgbb�
b�kem`Zl�^ey�ih^^_j`Zgby�hldhkh\�gZkui_c���gbah\u_�kl_gu��b�\u_fhd���\_j�
oh\u_�kl_gu��Z\lhfh[bevguo�^hjh]� 
�����Ih^ihjgu_� kl_gu� \� l_q_gb_� \k_]h� kjhdZ� kem`[u� ^he`gu� � h[_ki_qb\Zlv�
[_ahiZkghklv�b�[_ki_j_[hcghklv�ghjfZevgh]h�^\b`_gby� �ljZgkihjlZ��Z�lZd`_�
ijhklhlm�b�gZbf_gvrmx�ljm^h_fdhklv�bo� �kh^_j`Zgby�\�ijhp_kk_�wdkiemZlZ�
pbb� 
�����Ih^ihjgu_� kl_gu� ih� dhgkljmdlb\ghfm� j_r_gbx� ih^jZa^_eyxlky� gZ�fZk�
kb\gu_�b�lhgdhkl_ggu_�jbk������� 
                                              
 

 
jbk����FZkkb\gu_�ih^ihjgu_�kl_gu 

Z—k�^\mfy�\_jlbdZevgufb�]jZgyfb��[—k�\_jlbdZevghc�ebp_\hc�b�gZdehgghc�luevghc�]jZgvx��
\—k�gZdehgghc�ebp_\hc�b�\_jlbdZevghc�luevghc�]jZgvx��] —�k�^\mfy�gZdehggufb�\�klhjhgm�

aZkuidb�]jZgyfb��^ —�kh�klmi_gqZlhc�luevghc�]jZgvx��_�—�k�ehfZghc�luevghc�]jZgvx 
 

  
jbk����Lhgdhkl_ggu_�ih^ihjgu_�kl_gu�m]hedh\h]h�lbiZ 

�������������������������Z—dhgkhevgu_��[—k�Zgd_jgufb�ly]Zfb��\—dhgljnhjkgu_ 
 
�����<�fZkkb\guo�ih^ihjguo�kl_gZo�bo�mklhcqb\hklv�gZ�k^\b]�ijb�\ha^_ckl\bb�
]hjbahglZevgh]h�^Z\e_gby�]jmglZ�h[_ki_qb\Z_lky�\�hkgh\ghf�kh[kl\_gguf�\_�
khf�kl_gu� 
�����<�lhgdhkl_gguo�ih^ihjguo�kl_gZo�mklhcqb\hklv�h[_ki_qb\Z_lky�kh[kl\_g�
guf�\_khf�kl_gu�b�\_khf�]jmglZ��\h\e_dZ_fh]h�dhgkljmdpb_c�kl_gu�\�jZ[hlm� 
�����DZd� ijZ\beh�� fZkkb\gu_� ih^ihjgu_� kl_gu� [he__� fZl_jbZeh_fdb� b� [he__�
ljm^h_fdb�\�\ha\_^_gbb��q_f�lhgdhkl_ggu_��b�fh]ml�ijbf_gylvky�ijb�khhl\_l�
kl\mxs_f�l_ogbdh-wdhghfbq_kdhf�h[hkgh\Zgbb� 
���Dhgkljmdpbb�ih^ihjguo�kl_g�fh]ml�\uihegylvky��fhgheblgufb��k[hjgufb��

b�k[hjgh-fhgheblgufb� 
�����FZkkb\gu_�kl_gu�\ha\h^yl�ba�fhgheblgh]h�[_lhgZ��k[hjguo�[_lhgguo�[eh�
dh\���[mlh[_lhgZ�b�dZf_gghc�deZ^db�gZ�p_f_glghf�jZkl\hj_�� 
�����Lhgdhkl_ggu_� dhgkhevgu_� ih^ihjgu_� kl_gu� m]hedh\h]h� lbiZ� khklhyl� ba�
ebp_\uo�b�nmg^Zf_glguo�iebl��`_kldh�k\yaZgguo�f_`^m�kh[hc� 
���Dhgkljmdpbb�ih^ihjguo�kl_g�fh]ml�\uihegylvky��fhgheblgufb��k[hjgufb��

b�k[hjgh-fhgheblgufb� 
����Ih^ihjgu_� kl_gu� g_h[oh^bfh� jZkkqblu\Zlv� k� mq_lhf� ]hjbahglZevguo� b�

\_jlbdZevguo� \g_rgbo� gZ]jmahd�� jZkiheh`_gguo� gZ� ijbaf_� h[jmr_gby��
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\dexqZy�gZ]jmadb�hl�ljZgkihjlZ��l_ogheh]bq_kdh]h�h[hjm^h\Zgby��kdeZ^bjm_�
fh]h�fZl_jbZeZ�b�l�^� 
����<�dZq_kl\_�ghjfZlb\ghc�\j_f_gghc�\_jlbdZevghc�gZ]jmadb�hl�ih^\b`gh]h�

ljZgkihjlZ�ijb�jZkq_l_�ih^ihjghc�kl_gu�ijbgbfZ_lky�dhe_kgZy�gZ]jmadZ�\�\b�
^_�GD-���khklhysZy�ba�h^ghc�fZrbgu�gZ�dhe_kghf�oh^m� 

 
     1.1 P�_�e�v��j�Z�[�h�l�u -��\uihegblv��g_h[oh^bfu_��jZkq_lu��b�^Zlv�hp_gdm�
\hafh`ghklb�mkljhckl\Z�ih^ihjguo�kl_g�k�aZ^Zggufb�iZjZf_ljZfb��\�kemqZ_�
g_h[oh^bfhklb�\g_klb��dhgkljmdlb\gu_��baf_g_gby�\�ijh_dl��Ijhba\_klb�dhg�
ljhevguc��jZkq_l��gZ��W<F��k��ihfhsvx�ijh]jZffgh]h�dhfie_dkZ�5RDG� 
     1.2 K�h�k�l�Z�\� �j�Z�[�h�l�u�� �Ij_^mkfhlj_g� �^ey� �klm^_glh\�ki_pbZevghklb�
�����\k_o�nhjf�h[mq_gby���lZ[e��������<k_��g_h[oh^bfu_�^Zggu_�^ey�\uiheg_�
gby�jZ[hlu�\u^Zxlky�\�aZ^Zgbb� 
 
                                                                              ��������������������������������LZ[ebpZ�� 

 

��������������������������JZa^_e�������������������������������������������Ljm^h_fdhklv�\uiheg_gby� 
������hij_^_e_gb_�mklhcqb\hklb�ih^ihjghc����������������������������������� 
�������kl_gu�ijhlb\�k^\b]Z�����������                             
������jZkq_l�mklhcqb\hklb�hkgh\Zgby������������������������������������������������ 
������jZkq_l�mklhcqb\hklb�hkgh\Zgby�ih���������� 
�������^_nhjfZpbyf����������������������������������������������������������������������������  
�����hij_^_e_gb_�mkbebc�\�we_f_glZo�ih^-      
�������ihjghc�kl_gu������������������������������������������������������������������������������� 
�����ijh\_jdZ�ijh\_^_gguo�jZkq_lh\�gZ���������������������������� 
�������W<F���������������������������������                                              10  

 
 
 
 
�����IjbklmiZy� d� jZ[hl_�� klm^_gl� ^he`_g� ykgh� �ij_^klZ\eylv� � dhgdj_lguc� j_�
amevlZl�� l_hj_lbq_kdmx� b� ijZdlbq_kdmx� agZqbfhklv� � ijbgbfZ_fuo� \� jZ[hl_��
j_r_gbc� 
�����Ih� j_amevlZlZf� ijh\_^_gguo� \� jZ[hl_� jZkq_lh\� b� ijbgyluo� � j_r_gbc�
^he`gZ��[ulv��ij_^klZ\e_gZ��ihykgbl_evgZy��aZibkdZ��h[t_fhf���-���ebklh\��Z�
lZd`_�\�dZq_kl\_�ijbeh`_gby�]jZnbq_kdbc��fZl_jbZe�gZ�ebkl_�nhjfZlZ�:��� 
 
    �����HKGH<GU?�IHEH@?GBY�J:KQ?L: 
 
�����JZkq_l�ih^ihjguo�kl_g��ijhba\h^blky��ih��^\mf��]jmiiZf��ij_^_evguo�kh�
klhygbc� 
�����Ih�i_j\hc�]jmii_�\uihegyxl�jZkq_lu� 
    -�mklhcqb\hklb�hkgh\Zgby�ih^ihjghc�kl_gu�ijhlb\�k^\b]Z�� 
    -�mklhcqb\hklb�hkgh\Zgby�ih^�ih^hr\hc�kl_gu���^ey��g_kdZevguo��]jmglh\�� 
    -�ijhqghklb�kdZevgh]h�hkgh\Zgby��^ey�kdZevguo��]jmglh\���� 
    -�ijhqghklb�we_f_glh\�dhgkljmdpbc�b�maeh\�kh_^bg_gby� 
����Ih�\lhjhc�]jmii_�\uihegyxl�jZkq_lu� 
    -�hkgh\Zgbc�ih��^_nhjfZpbyf��� 
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    -�lj_sbghklhcdhklb��we_f_glh\��dhgkljmdpbc� 
����<k_�jZkq_lu�hkms_kl\eyxlky�gZ���ih]hgguc�f_lj�^ebgu�kl_gu� 
��������JZkq_lu�ijhba\h^ylky�k�mq_lhf�dhwnnbpb_glh\�gZ^_`ghklb�^ey�ihklh�
ygguo�b�\j_f_gguo�gZ]jmahd� fγ ��dhlhju_�ijb\_^_gu�\�lZ[ebp_���� 

 
                                                                                          ���������������������������lZ[ebpZ��� 
 

IHKLHYGGU?G:=JMADB�������������������������������DHWNNBPB?GL fγ  

Kh[kl\_gguc�\_k�dhgkljmdpbb�������������������������������������������������������������� 
<_k�]jmglZ�\�ijbjh^ghf�aZe_]Zgbb���������                                           1.1 
<_k�miehlg_ggh]h�]jmglZ�aZkuidb�������������������������������������������������������� 
<_k�^hjh`gh]h�ihdjulby�ijh_a`_c�qZklb�b�ljhlmZjh\���������������������� 

 
<J?F?GGU?��G:=JMADB 

Hl�h^bghqghc�ly`_ehc�gZ]jmadb�\�\b^_�GD-80                                1.1 
Hl�dhehgg�Z\lhfh[be_c�\�\b^_�gZ]jmadb�:-II                                   1.4 

 
�����<� kemqZ_� gZebqby� gZ� ih\_joghklb� ijbafu� h[jmr_gby� ih^ihjghc� kl_gu�
nbdkbjh\Zgghc��dhe_kghc�gZ]jmadb��GD�-�����__�bgl_gkb\ghklv��\�aZ\bkbfhklb�
hl�jZkklhygby�f_`^m�aZ^g_c�]jZgvx�kl_gu�b�hkvx�ihehku��ijb\h^yl�d�wd\b\Z�
e_glghc�gZ]jmad_��jZ\ghf_jgh�jZkij_^_e_gghc�gZ� kiehrghc�ihehk_� �ihehkh�
\hc�gZ]jmad_��\�khhl\_lkl\bb�k�lZ[ebp_c����Ijbeh`_gby���KgbI������������bg�
l_gkb\ghklv� � � gZ]jmadb� :D�� \� gZr_f� kemqZ_� :–II�� ijbgbfZ_lky� � kh]eZkgh���
ghjf� 
g = 0,1 K��l�_�����⋅��� �����l�f� 
�����LZd`_� \hafh`gh� ihevah\Zlvky� ]jZnbdhf� ^ey� hij_^_e_gby� bgl_gkb\ghklb�
wd\b\Ze_glghc�gZ]jmadb��jbk�����   
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Jbk����=jZnbd�^ey�hij_^_e_gby�bgl_gkb\ghklb�wd\b\Ze_glghc�ghjfZ-

lb\ghc�jZ\ghf_jgh�jZkij_^_e_gghc�ihehkh\hc�gZ]jmadb�hl�Z\lh^hjh`gh]h�

ljZgkihjlZ�ijb�^\b`_gbb�_]h�\^hev�ih^ihjghc�kl_gu 
 

����������>h�\uiheg_gby�hkgh\guo��jZkq_lh\�g_h[oh^bfh��ijb\_klb��ihemq_ggu_�
\�aZ^Zgbb�� �ghjfZlb\gu_�oZjZdl_jbklbdb�]jmglh\�g_gZjmr_ggh]h�keh`_gby�d��
jZkq_lguf� �oZjZdl_jbklbdZf�ih�i_j\hc�b�\lhjhc� ]jmii_�ij_^_evguo�khklhy�
gbc� 
�����GhjfZlb\gu_� agZq_gby� oZjZdl_jbklbd� ]jmglh\� g_gZjmr_ggh]h� keh`_gby�
hij_^_eyxlky��dZd�ijZ\beh��gZ�hkgh\_�g_ihkj_^kl\_ggh]h�bkiulZgby�]jmglh\���
Z���ijb���hlkmlkl\bb���lZdbo���^Zgguo��bo��^himkdZ_lky���ijbgbfZlv���ih� 
KgbI��������-���GhjfZlb\gu_�oZjZdl_jbklbdb�]jmglh\�g_gZjmr_ggh�
]h�keh`_gby�h[hagZqZxlky� 
                               γ -�h[t_fguc�\_k�]jmglZ� 
                              ϕ -�m]he�\gmlj_gg_]h�lj_gby�]jmglZ� 
                               c -�\_ebqbgZ�kp_ie_gby�]jmglZ�� 
�����JZkq_lgu_�oZjZdl_jbklbdb�^ey� ]jmglh\�g_gZjmr_ggh]h� �keh`_gby�hij_^_�
eyxlky�ih�nhjfmeZf� 
��]jmiiZ�ij_^_evguo�khklhygbc�������������������]jmiiZ�ij_^_evguo�khklhygbc 
 
                 γ|  =   1,05γ                                                            γ|| = 1,05γ  
                 ϕ| = ϕ���D]������������������������������������������������������������������������������������������������������ϕ|| = ϕ 
������������������k|� �k�������������������������������������������������������������������F|| = c     
 

]^_�D] -�dhwnnbpb_gl�gZ^_`ghklb�ih�]jmglm��ijbgbfZ_lky�^ey�i_kqZguo�]jmg�
lh\������^ey�]ebgbkluo�- 1,15. 
������AgZq_gby� oZjZdl_jbklbd� miehlg_gguo� ]jmglh\� aZkuidb� mklZgZ\eb\Zxlky�
ih�oZjZdl_jbklbdZf�l_o�`_�]jmglh\�g_gZjmr_ggh]h�keh`_gby� �b�h[hagZqZxl�
ky� 
^ey�jZkq_lh\�ih�i_j\hc�]jmii_�ij_^_evguo�khklhygbc�- γ|′, ϕ|′�b�k|′; 
^ey�jZkq_lh\�ih�\lhjhc�]jmii_�ij_^_evguo�khklhygbc�- γ||′, ϕ||′�b�k||′. 
�����Khhlghr_gb_�f_`^m�oZjZdl_jbklbdZfb�]jmglh\�g_gZjmr_ggh]h�keh`_gby�b�
]jmglh\�aZkuidb�ke_^mxsb_� 

÷���
����
�� 

÷���
����
��| 
÷���
����
�� 
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                γ|′ = 0,95 γ| ;                                                    γ′||  = 0,95 γ||; 
               ϕ′| = 0,9 ϕ| ;                                                     ϕ′|| = 0,9 ϕ||; 
����������������k′|� �����k|��������������������������������������������������������k′||� �����k||, 
����������������gh�g_�[he__�����lk�f2�������������������������������������gh�g_�[he__���lk�f2. 
 
���HIJ?>?E?GB?�:DLB<GH=H�>:<E?GBY�=JMGL:  
 
����������<� lhf� kemqZ_��dh]^Z�ih\_joghklv� ]jmglZ�h]jZgbq_gZ�iehkdhklvx�b�gZ�
ijbaf_�h[jmr_gby�hlkmlkl\m_l�\g_rgyy�gZ]jmadZ��]hjbahglZevgZy�σ]�b�\_jlb�
dZevgZy�σ\�khklZ\eyxsb_�bgl_gkb\ghklb�Zdlb\gh]h�^Z\e_gby�g_k\yagh]h�]jmg�
lZ�gZ�]em[bg_�G� �jbk���Z��hij_^_eyxlky��bkoh^y�ba�ij_^iheh`_gby�h[�h[ jZ�
ah\Zgbb� ijyfhebg_cghc� ih\_joghklb� kdhev`_gby� \� ijbaf_� h[jmr_gby�� ih�
nhjfmeZf� 
                                       
                                            σ] = γGλ];                                              (1) 
                                      σ\ = σ] tg (ε + δ),                                         (2) 
 
]^_�λ] -�dhwnnbpb_gl�]hjbahglZevghc�khklZ\eyxs_c�Zdlb\gh]h�^Z\e_gby�]jmg�
lZ� 
 

                       

( ) )((
)( )(

Χ




















−+

−=

ρεδε
ρϕδϕε

εϕλ

coscos

 - sin + sin
+1 cos

)cos(
‹

            (3) 

 
ϕ -�m]he�\gmlj_gg_]h�lj_gby�]jmglZ� 
γ -�h[t_fguc�\_k�]jmglZ� 
ε -� m]he� gZdehgZ� aZ^g_c� ]jZgb� kl_gu� d� \_jlbdZeb�� ijbgbfZ_lky� kh� agZdhf�
³iexk´�ijb�hldehg_gbb�hl�\_jlbdZeb�\�klhjhgm�kl_gu� 
ρ -� m]he� gZdehgZ� ih\_joghklb� ]jmglZ� d� ]hjbahglm�� ijbgbfZ_lky� kh� agZdhf�
³iexk´�ijb�hldehg_gbb�ih\_joghklb�hl�]hjbahglZevgh]h�iheh`_gby�\\_jo� 
δ -�m]he�lj_gby�]jmglZ�gZ�dhglZdl_�kh�kl_ghc��^ey�kl_g�k�ih\ur_gghc�r_jhoh�
\Zlhklvx�� gZijbf_j�� kh� klmi_gqZlhc� aZ^g_c� ]jZgvx��ijbgbfZ_lky� jZ\guf�ϕ; 
^ey�kl_g�k�aZ^g_c�]jZgvx��ki_pbZevgh�h[jZ[hlZgghc�^ey�ijb^Zgby�_c�r_jhoh�
\Zlhklb� - 0,5ϕ��\�hklZevguo�kemqZyo��Z� lZd`_�^ey�f_edha_jgbkluo�\h^hgZku�
s_gguo�i_kdh\�b�ijb�gZebqbb�\b[jZpbhgguo�gZ]jmahd�gZ�ih\_joghklb�aZkui�
db�ijbgbfZ_lky�jZ\guf�gmex� 
Ijb�ε = ρ = δ = 0 
 
                                    λ] = tg  (45° - ϕ/2)                                         (4) 
 
�����AgZq_gby�dhwnnbpb_glZ�λ]�\�aZ\bkbfhklb�hl�ϕ, ε, ρ�b�δ�ijb\_^_gu�\�ijbe����
[1]. 
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jbk����Ko_fZ�d�hij_^_e_gbx�Zdlb\gh]h�^Z\e_gby�]jmglZ 
Z�—�g_k\yagh]h��[�—�k\yagh]h 

 
����������>ey�k\yagh]h�]jmglZ�]hjbahglZevgZy�σ′]��b�\_jlbdZevgZy�σ′\�khklZ\eyx�
sb_�Zdlb\gh]h�^Z\e_gby�]jmglZ�gZ�]em[bg_�G� �jbk���[��hij_^_ey_lky�ih�nhj�
fmeZf 
 
                                    σ′] = σ] - σk]������������������������������������������������������������������

(5) 
                                σ′\ = σ′] tg (ε+δ)                                                          (6) 
 
]^_�σk] -�bgl_gkb\ghklv�]hjbahglZevguo�kbe�kp_ie_gby� 
 
                                σk] = ck                                                                         (7) 
 
�����AgZq_gby�dhwnnbpb_glh\�N�\�aZ\bkbfhklb�hl�ϕ, ε, ρ�b�δ�ijb\_^_gu�\�ijbe����
[1]. 
���������=hjbahglZevgZy�?]��?′]��b�\_jlbdZevgZy�?\��?′\��khklZ\eyxsZy�Zdlb\gh]h�
^Z\e_gby�]jmglZ�hij_^_ey_lky�ih�nhjfmeZf� 
�����^ey�g_k\yagh]h�]jmglZ��k ��� 
 

�����������������������������?] = 
�

�
σ]�G���������������������������������������������������������������       (8)  

�����������������������������?\ = 
�

�
σ\�G������������������������������������������������������������������������� 

 
�����^ey�k\yagh]h�]jmglZ��k#0) 
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                   �����������?′] = 
�

�
 σ′(H - hk);                                                           (10) 

������������������������������?′\ = 
�

�
 σ′�G�- hk),                                                             (11)  

]^_��������������������������Kk = (σk]/σ]��G����������������������������������������������������������������������� 
 
�����LhqdZ� ijbeh`_gby� ]hjbahglZevghc� khklZ\eyxs_c� Zdlb\gh]h� ^Z\e_gby�
]jmglZ��jbk����jZkiheZ]Z_lky�hl�ih^hr\u�kl_gu�gZ�jZkklhygbb��jZ\ghf� 
 

�����^ey�g_k\yaguo�]jmglh\����������������]� �
�

�
�G������������������������������������������������������� 

�����^ey�k\yaguo�]jmglh\��������������������]′ = 
�

�
��G�- hc).                                        (14) 

 
����������Ijb�gZebqbb�gZ�]hjbahglZevghc�iehkdhc�ih\_joghklb�aZkuidb�kiehr�
ghc� jZ\ghf_jgh� jZkij_^_e_gghc� gZ]jmadb� J� �jbk�� �� Z�� ]hjbahglZevgZy� σJ]� b�
\_jlbdZevgZy�σJ\�khklZ\eyxsb_�bgl_gkb\ghklb�Zdlb\gh]h�^Z\e_gby�]jmglZ�hl�
wlhc�gZ]jmadb�gZ�]em[bg_�G�^ey�k\yaguo�b�g_k\yaguo�]jmglh\�hij_^_eyxlky�ih�
nhjfmeZf� 
                                           σJ] = gλ];                                                                 (15)  
                                           σg\ = σg] tg(ε + δ).                                                   (16)  
 
�����=hjbahglZevgZy�?J]�b� \_jlbdZevgZy�?J\� khklZ\eyxsb_� Zdlb\gh]h�^Z\e_gby�
]jmglZ�hl�gZ]jmadb�J�hij_^_eyxlky�ih�nhjfmeZf� 
 
�������������������������������������������?J] = σJ]�G�������������������������                                      (17) 
�������������������������������������������?J\ = σJ\�G������������������������������������������������������������������� 
 
�����LhqdZ� ijbeh`_gby� ]hjbahglZevghc� khklZ\eyxs_c� Zdlb\gh]h� ^Z\e_gby�
]jmglZ�jZkiheZ]Z_lky�hl�ih^hr\u�kl_gu�gZ�jZkklhygbb��jZ\ghf� 
 

                                            Zg = 
�

�
�G��������������������������������������������������������������������� 

 
����������<�kemqZ_�gZebqby�gZ�ih\_joghklb�aZkuidb�nbdkbjh\Zgghc�jZ\ghf_jgh�
jZkij_^_e_gghc�gZ]jmadb� J� �jbk����[�� ]hjbahglZevgZy�b� \_jlbdZevgZy� khklZ\�
eyxsb_�Zdlb\gh]h�^Z\e_gby�]jmglZ�hl�wlhc�gZ]jmadb�hij_^_eyxlky�ih�nhjfm�
eZf� 
 
�����������������������������������������?J]�= σJ]�Gg;                                                                (20) 
�����������������������������������������?J\ = σJ\�Gg,                                                               (21) 
                        �������]^_�Gg� �G�-�Z��WJε + tgθ0)                                                    (22) 
 
�������M]he�gZdehgZ�iehkdhklb�h[jmr_gby��kiheaZgby��d�\_jlbdZeb�hij_^_ey_lky�
ih�nhjfme_� 
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                                      θ0 = 45° - 
ϕ
�

                                                                  (23) 
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Jbk����Ko_fZ�d�hij_^_e_gbx�Zdlb\gh]h�^Z\e_gby�]jmglZ�hl�jZ\ghf_jgh 
jZkij_^_e_gghc�gZ]jmadb 

��������������Z�—�ijb�kiehrghc�gZ]jmad_��[�—�ijb�nbdkbjh\Zgghc�gZ]jmad_�� 
��������������\�—�ijb�ihehkh\hc�gZ]jmad_ 

 
 
 
������LhqdZ�ijbeh`_gby�]hjbahglZevghc�khklZ\eyxs_c�^Z\e_gby�]jmglZ�\�wlhf�
kemqZ_�jZkiheZ]Z_lky�gZ�jZkklhygbb�jZ\ghf� 
 

                                     Zg = 
�

�
 Hg.                                                       (24) 

 
����������Ijb�gZebqbb�gZ�ih\_joghklb�aZkuidb�ihehkh\hc�jZ\ghf_jgh�jZkij_^_�
e_gghc�gZ]jmadb�J��jbk���\��]hjbahglZevgZy�b�\_jlbdZevgZy�khklZ\eyxsZy�Zd�
lb\gh]h�^Z\e_gby�]jmglZ�hl�wlhc�gZ]jmadb�hij_^_eyxlky�ih�nhjfmeZf� 
                                  
�����������������������������������?J] = σJ] hg;                                                         (25) 
�����������������������������������?J\ = σJ\ hg,                                                        (26) 
���������������������]^_��������Kg = b/(tgε + tgθ0).                                                (27) 
 
 

                      zg = H - ( )Z � ���E

WJ � �ε Θ
.                                                    (28) 

 
���������� Ijb� gZebqbb� gZ� ijbaf_� h[jmr_gby� jZ\ghf_jgh� jZkij_^_e_gghc� gZ�
]jmadb�bgl_gkb\ghklb�Zdlb\gh]h�^Z\e_gby�k\yagh]h�]jmglZ�σ′]�b�σ′\�hij_^_ey�
xlky�ih�nhjfmeZf� 
 
                                  σ′] = σ] + σJ] - σk];                                              (29) 
                                  σ′\ = σ\ + σJ\ - σk\.                                             (30) 
 
����������:dlb\gh_�^Z\e_gb_�]jmglZ�^ey�m]hedh\uo�ih^ihjguo�kl_g�hij_^_ey_l�
ky�� bkoh^y� ba� mkeh\by� h[jZah\Zgby� aZ� kl_ghc� debgh\b^ghc� kbff_ljbqghc� �Z�
ijb�dhjhldhc�aZ^g_c�dhgkheb�-�g_�kbff_ljbqghc��ijbafu�h[jmr_gby� 
������<� kemqZ_� h[jZah\Zgby� kbff_ljbqghc�ijbafu� h[jmr_gby� Zdlb\gh_�^Z\e_�
gb_�]jmglZ�ijbgbfZ_lky�^_ckl\mxsbf�gZ�gZdehggmx�iehkdhklv��ijh\_^_ggmx�
ih^�m]ehf�θ0�d�\_jlbdZeb� 
�����<_k�]jmglZ�\�dhglmj_�ijbafu�h[jmr_gby�ijb[Z\ey_lky�d�\_km�kl_gu� 
�����JZkq_l�m]hedh\uo�ih^ihjguo�kl_g�ijhba\h^blky�lZd�`_��dZd�b�fZkkb\guo��
ijbgbfZy 

                                   ε = θ0 = 45° - 
ϕ
�
�b�δ = ϕ. 

 
      4��J:KQ?L�MKLHCQB<HKLB�KL?GU�IJHLB<�K><B=: 
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������JZkq_l�mklhcqb\hklb�iheh`_gby�ih^ihjghc�kl_gu�ijhlb\�k^\b]Z�hkms_kl�
\ey_lky�ih�ih^hr\_�kl_gu��iehkdbc�k^\b]��b�ih�ehfZguf�ih\_joghklyf��]em�
[bgguc�k^\b]�� 
����������Mklhcqb\hklv� �ih^ihjghc� �kl_gu� �ijhlb\� �k^\b]Z� � �ijb� � �g_kdZevguo���
]jmglZo��jbk�����hij_^_ey_lky�ih�nhjfme_ 
 

                                
L

L

m^

k^

 ≥ M cg���ijb������M cg =  1,2                                 (31) 

 
]^_�Lk^ -�k^\b]ZxsZy�kbeZ��jZ\gZy�kmff_�ijh_dpbc�\k_o�k^\b]Zxsbo�kbe��^_c�
kl\mxsbo�gZ�kl_gm��gZ�]hjbahglZevgmx�iehkdhklv� 
�����Lm^�-�m^_j`b\ZxsZy�kbeZ��jZ\gZ�kmff_�ijh_dpbc��\k_o��m^_j`b\Zxsbo�kbe�
gZ�lm�`_�iehkdhklv� 
     1,2 -�dhwnnbpb_gl�gZ^_`ghklb�ijhlb\�k^\b]Z� 
 
 

 
 
 
Jbk����Ko_fZ�d�jZkq_lm�mklhcqb\hklb�ih^ihjguo�kl_g�ijhlb\�k^\b]Z�ijb�

]hjbahglZevghc�ih^hr\_ 
k—^ey�fZkkb\guo�kl_g��[—^ey�lhgdhkl_gguo��lhedh\h]h�lbiZ� 

1 —�i_j\uc�kemqZc��2 —�\lhjhc�kemqZc��3—lj_lbc�kemqZc 
 

����������K^\b]ZxsZy�kbeZ�hij_^_ey_lky�ih�nhjfme_�����Z�m^_j`b\ZxsZy�ih�nhj�
fme_���� 

 
���������������������������Lk^� �?]���?T]                                                                   (32) 
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������������������Lm^ = Ntg(ϕ|  -  β����<k| ��?i�,                                                   (33) 
]^_�1�-�kmffZ�ijh_dpbc�\k_o�kbe�gZ�\_jlbdZevgmx�iehkdhklv� 
 
             N =  ∑Pi = Gkl + ∑ G]j��?\���?J\                                                   (34) 
������?]  -�]hjbahglZevgZy�khklZ\eyxsZy�Zdlb\gh]h�^Z\e_gby�]jmglZ� 
������?T]�-�]hjbahglZevgZy�khklZ\eyxsZy�^Z\e_gby�]jmglZ�hl�gZ]jmadb�� 
������?\  -�\_jlbdZevgZy�khklZ\eyxsZy�Zdlb\gh]h�^Z\e_gby�]jmglZ� 
������?T\ -�\_jlbdZevgZy�khklZ\eyxsZy�^Z\e_gby�]jmglZ�hl�gZ]jmadb� 
      Gkl� -� kh[kl\_gguc� \_k� kl_gu��*]j� -� kh[kl\_gguc� \_k� � ]jmglZ� \g_�ijbafu�
h[jmr_gby��\�dhglmj_�DEFG��b�gZ^�i_j_^g_c�dhgkhevx�m�m]hedh\uo�ih^ihjguo�
kl_g�� 
������<��-�rbjbgZ�ih^hr\u�kl_gu� 
������?i -�iZkkb\gh_�^Z\e_gb_�]jmglZ� 
      β   -�m]he�gZdehgZ�ih\_joghklb�kdhev`_gby�d�]hjbahglm� 
�����Kh[kl\_gguc�\_k�kl_gu�hij_^_ey_lky�iml_f�jZa[b\db� �__� �k_q_gby�gZ�ijh�
klu_�]_hf_ljbq_kdb_�nb]mju��k�ihke_^mxsbf� �hij_^_e_gb_f�bo�h[t_fZ�b�\_�
kZ��H[t_fguc�\_k�[_lhgZ��ijb��wlhf��ijbgbfZ_lky������l�k� 
������AgZq_gby�]hjbahglZevghc�b�\_jlbdZevghc�khklZ\eyxsbo�Zdlb\gh]h�^Z\e_�
gby�]jmglZ�b�^Z\e_gby�]jmglZ�hl�\g_rg_c�gZ]jmadb��aZ\bkyl�hl�lbiZ�ih^ihjghc�
kl_gu��oZjZdl_jbklbd�]jmglZ�b�\b^Z�\g_rg_c�gZ]jmadb�b�hij_^_eyxlky�ih�f_�
lh^bd_�mdZaZgghc�\�]eZ\_��� 
�����Dhwnnbpb_gl�gZ^_`ghklb�ih�gZ]jmad_�^ey�h[t_fgh]h�\_kZ�]jmglZ�\�m]hedh�
\uo�ih^ihjguo�kl_gZo�\�ij_^_eZo�\k_]h�]jmglZ�aZkuidb�ijbgbfZ_lky�h^bgZdh�
\uf� 
���������� JZkq_l� mklhcqb\hqlb� ih^ihjghc� kl_gu� k� ]hjbahglZevghc� ih^hr\hc�
ijhlb\�k^\b]Z�ijhba\h^blky�^ey�lj_o�agZq_gbc�m]eZ�β: β = 0 -�iehkdbc�k^\b]�
ih�ih^hr\_�kl_gu��β = 0,5; ϕ|�b�β = ϕ| -�]em[bgguc�k^\b]�ih�ebgbyf�kdhev`_�
gbyf��jbk������ 
����������Ijb�k^\b]_�ih�ih^hr\_�kl_gu� �β� ���oZjZdl_jbklbdb�]jmglZ�ϕ| b�k|�ih�
dhglZdlm�ih^hr\Z�–�]jmgl�\�nhjfme_� �����hij_^_eyxlky�ih�i�������gh�ijbgb�
fZxlky��g_�[he__���°�^ey�ϕ|�b�g_�[he__�����lk�f«�^ey�k|.  
�����<�kemqZ_�]em[bggh]h�k^\b]Z�m]he�\gmlj_gg_]h�lj_gby�ϕ|�b�m^_evgh_�kp_ie_�
gb_�k|�ijbgbfZ_lky�dZd�^ey�]jmglZ�g_gZjmr_ggh]h�keh`_gby� 
����������Ijb�]em[bgghf�k^\b]_�^ey�kl_g�k�]hjbahglZevghc�ih^hr\hc��\�kemqZ_�
dh]^Z�β = 0,5 ϕ|�\�nhjfme_������g_h[oh^bfh�^hihegbl_evgh�mq_klv�\_k�]jmglZ�
ih^�ih^hr\hc�kl_gu�\�ij_^_eZo�kdhev`_gby�k�dhwnnbpb_glhf�gZ^_`ghklb�ih�
gZ]jmad_����� 
����������IZkkb\gh_�^Z\e_gb_�]jmglZ�hij_^_ey_lky�ih�nhjfme_������ 
 
�����������������������������������?i� ��������γh.                                                                 (35) 
 
]^_�λi�-�dhwnnbpb_gl�iZkkb\gh]h�^Z\e_gby��]jmglZ���ijbgbfZ_lky��ih�nhjfme_�
(36) 
 
                                   λi = tg(45 ° + ϕ|/2)                                                         (36) 
 
�����<�kemqZ_�k^\b]Z�ih�ih^hr\_�ijbgbfZ_lky�λi = 1 
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�����IZkkb\guc�hlihj�]jmglZ�mqblu\Z_lky�^h�]em[bgu�jZkiheh`_gby�ebgbb�i_�
j_k_q_gby�]jZgb�ih^hr\u�kl_gu�k�ij_^eZ]Z_fhc�iehkdhklvx�kdhev`_gby� 
�����Dhwnnbpb_gl� gZ^_`ghklb� ih� gZ]jmad_� ^ey� ]jmglZ� ijb� � hij_^_e_gbb� iZk�
kb\gh]h�^Z\e_gby�]jmglZ�ijbgbfZ_lky�jZ\guf������ijb��iehkdhf�b�]em[bgghf�
k^\b]_� 
 
 
       5��J:KQ?L�MKLHCQB<HKLB�HKGH<:GBY�IH>IHJGHC�KL?G?U 
 
����������JZkq_l�mklhcqb\hklb�hkgh\Zgby�ih^�ih^hr\hc�kl_gu��jbk�����hij_^_ey�
_lky�ba�mkeh\by������ 
 
                                            N ≤�N�.g                                                              (37) 

���]^_�1��-�kmffZ�ijh_dpbc�\k_o�kbe�gZ�\_jlbdZevgmx�iehkdhklv� 
��������������������N� � -� g_kmsZy� kihkh[ghklv� ]jmglZ�� \ujZ`_ggZy� \_jlbdZevghc� kb�
ehc� 
                   Kg -�dhwnnbpb_gl�gZ^_`ghklb��mklZgZ\eb\Z_lky�\�aZ\bkbfhklb� �hl�
hl\_lkl\_gghklb� khhjm`_gby� b� ^jm]bo� � iZjZf_ljh\�� �ijbgbfZ_lky� �g_�f_g__�
1.2. 
                                                                                                                            
 
 
                                                                                                                            
 

                                       
 

Jbk����Ko_fZ�d�jZkq_lm�g_kms_c�kihkh[ghklb�hkgh\Zgby 
h�—�^ey��g_kdZevgh]h��hkgh\Zgby� 
[�—�^ey�kdZevgh]h�hkgh\Zgby 
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����������G_kmsZy�kihkh[ghklv�hkgh\Zgby�ih^�ih^hr\hc�kl_gu�gZ���f�__�^ebgu�
hij_^_ey_lky��ba�mkeh\by��������������� 
��������N� �<�:|�<| γ| ��<| hγ′| + D| k|)                                                                      (38) 
]^_��<�-�ijb\_^_ggZy��rbjbgZ��nmg^Zf_glZ��\uqbkey_fZy��ih��nhjfme_ 
��������<� �<�-��_� 
��������<�-�rbjbgZ�ih^hr\u�nmg^Zf_glZ� 
��������_�-�wdkp_gljbkbl_l�ijbeh`_gby�jZ\gh^_ckl\mxs_c�\k_o�kbe 
 
��������������������_ = M/N = (∑Pi li + ∑Ti zi) / ∑Pi                                                     (39) 
 
]^_�ΣPili -� kmffZ�fhf_glh\� \k_o� \_jlbdZevguo� kbe�hlghkbl_evgh�hkb��ijhoh�
^ys_c�q_j_a�p_glj�ly`_klb�ih^hr\u� 
       ΣTizi -� kmffZ�fhf_glh\� \k_o� ]hjbahglZevguo� � kbe� �hlghkbl_evgh� lhc�`_�
hkb� 
      ΣPi -�kmffZ�ijh_dpbc�\k_o�kbe��gZ��\_jlbdZevgmx��iehkdhklv��hij_^_ey_lky�
ih�nhjfme_������ 
:|��<|, D|  -�[_ajZaf_jgu_�dhwnnbpb_glu�hij_^_eyxlky��ih��nhjfmeZf������ 
 
����������������������������������������������:|  = λγ iγ nγ 
                                              <|  =  λq iq nq                                                          (40) 
                                              D|  = λc ic nc 

 
]^_�λγ, λq, λc  -�dhwnnbpb_glu�g_kms_c� kihkh[ghklb� ]jmglZ��hij_^_eyxlky�ih�
lZ[e��� 

 
���������������������������������������������������������������������������������������������������������������lZ[e��� 
 

   tqϕ|    0,20     0,25      0,30     0,35     0,40     0,45     0,50 
     λc        9     10,5       12       14       16       19       23 
     λq      2,9      3,7      4,7        6        8       10       12 
     λγ      0,6      0,9      1,2      1,8      2,7      3,8       5 

 
                                                                                     �Ijh^he`_gb_�lZ[e���� 
 

    tq ϕ|     0,55     0,60     0,65     0,70     0,75     0,80     0,85     0,90 
      λc      27      32      48      45      53      64      77      92 
      λq      16      20      27      33      40      53      70      84 
      λγ       7      10      14      20      27      36      50      70 

  
iγ, ig,ic -�dhwnnbpb_glu�\ebygby�m]eZ�gZdehgZ�gZ]jmadb�� � aZ\bkysb_�hl�khhl�
ghr_gby�]hjbahglZevghc�b� �\_jlbdZevghc� �khklZ\eyxsbo�kmffZjghc�gZ]jma�
db��\uqbkeyxl����ih�nhjfmeZf��������������������� 
 



 
 
 
 

16 

            

L
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L
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= −
⋅
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
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= −
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
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











= −
−

−

�

� � �

�

�

�

�

�                                                (41) 

 
 
     N ,ng�b�Qc -�dhwnnbpb_glu�\ebygby�nhjfu�ih^hr\u� �nmg^Zf_glZ��\�jZkq_�
lZo�ijbgbfZxlky�jZ\gufb��� 
     H -�f_gvrZy�\�iehkdhklb�k^\b]Z�]em[bgZ�aZeh`_gby�ih^hr\u� 
 
      ����J:KQ?L�HKGH<:GBC�IH�>?NHJF:PBYF 
 
����������JZkq_l�hkgh\Zgbc�ih�^_nhjfZpbyf� �kqblZ_lky� �m^h\e_l\hj_gguf��_keb�
kj_^g__�^Z\e_gb_�gZ�]jmgl�Jkj��jbk����ih^�ih^hr\hc�g_�ij_\urZ_l��jZkq_lgh]h�
^Z\e_gby�gZ�hkgh\Zgby�5��Z�djZ_\h_�^Z\e_gb_�JfZdk�g_�ij_\urZ_l�����5���������� 
 
��������������������������������������������������Jkj <  R                                                      (42) 
 
��������������������������������������������������JfZdk < 1,2 R                                               (43) 
 
�����������<� lhf� kemqZ_� dh]^Z� wdkp_gljbkbl_l� ijbeh`_gby� � jZ\gh^_ckl\mxs_c�
\k_o�\_jlbdZevguo�kbe��hlghkbl_evgh��p_gljZ��ly`_klb��ih^hr\u�?���<���djZ_�
\u_�^Z\e_gby�]jmglZ�ih^�ih^hr\hc��kl_gu��hij_^_eyxlky�ih�nhjfme_ 
 
���������JfZdk = N/F (1 ± 6e/B)                                                                         (44) 
            fbg 
 
 
 

                                       
jbk����Ko_fZ�d�hij_^_e_gbx�^Z\e_gbc�ih^�ih^hr\hc�kl_gu 

Z—ijb�fZeuo�wdkp_gljbkbl_lZo��_���<����� 
[—ijb�[hevrbo�wdkp_gljbkbl_lZo��wixjZ�^Zggh]h�\b^Z�g_�^hemkdZ_lky� 

 
�����Ijb�[hevrbo�agZq_gbyo�wdkp_gljbkbl_lh\�^Z\e_gb_��ih^��ih^hr\hc�kl_gu�
\uqbkey_lky�ih�nhjfme_����� 
 
���������JfZdk�= 2N/3d                                                                                        (45)  
]^_�G� �����E�– e. 
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       6��HIJ?>?E?GB?�MKBEBC�<�WE?F?GL:O�DHGKLJMDPBC 
 
�����Hij_^_e_gb_�mkbebc�\� we_f_glZo�ih^ihjghc� kl_gu� �ijhba\h^blky�\� khhl�
\_lkl\bb�k�jZkq_lgufb�ko_fZfb����������>�@� 
�����Ih� j_amevlZlZf�ijh\_^_gguo� jZkq_lh\� kljhylky� wixju� k� �mdZaZgb_f� \k_o�
ihemq_gguo�qbke_gguo�agZq_gbc� 
�����?keb�\�oh^_�ijh\_^_gguo�\uqbke_gbc�ohly�[u�h^bg� �ba� �imgdlh\�jZkq_lh\�
g_�m^h\e_l\hjy_l�ij_^ty\ey_fuf�d�g_fm� lj_[h\Zgbyf� �g_h[oh^bfh� aZijh_d�
lbjh\Zlv�dhgkljmdlb\gu_�f_jhijbylby� >�@� �iha\heyxsb_�k�gZbf_gvrbfb�aZ�
ljZlZfb�m\_ebqblv�mklhcqb\hklv�ih^ihjghc�kl_gu� 
�����IjZ\bevghklv�ijbgyluo� �f_jhijbylbc� �ijh\_jy_lky� �ih\lhjguf�jZkq_lhf�
beb�ijb�ihfhsb�ijh]jZffgh]h�dhfie_dk�5RDG�gZ�W<F� 
 

���IJBF?J�J:KQ?L:�M=HEDH<HC�IH>IHJGHC�KL?GDB 
DHGKHEVGH=H�LBI: 

 
������>Zgh��m]hedh\Zy�ih^ihjgZy�kl_gdZ� �jbk������<ukhlZ�ih^ihjZ�]jmglZ�����f� 
]em[bgZ�aZeh`_gby�ih^hr\u�nmg^Zf_glZ�����f� 
�����GZ�ih\_joghklb�ijbafu�h[jmr_gby�jZkiheh`_gZ�jZ\ghf_jgh�jZkij_^_e_g�
gZy�gZ]jmadZ�bgl_gkb\ghklvx�T  ���lk�f� 
  

                                                 
Jbk����H[sbc�\b^�m]hedh\hc�dhgkhevghc�ih^ihjghc�kl_gu 

 
Hkgh\Zgb_� b� ]jmgl� aZkuidb� -� i_kdb� iue_\Zlu_� kh� ke_^mxsbfb� jZkq_lgufb�
oZjZdl_jbklbdZfb� 
������������������������������������������������]jmgl�aZkuidb� 
 
                       γ′|� �����lk�f � ;                                 γ′|| = 1,7  lk�f � ; 
                       ϕ′| = 26°;                                          ϕ′|| = 27°; 
�����������������������k′| = �������������������������������������������������k′||� �h 
 
                     ���������������������������]jmgl�hkgh\Zgby 
 
                        γ|� �����lk�f � ;                                  γ||� �����lk�f � ; 
                        ϕ| = 29°;                                           ϕ|| = 30°; 
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������������������������k|  ���������������������������������������������������k|| = 0. 
 
�����Lj_[m_lky�ih^h[jZlv�jZaf_ju�fhgheblghc�`_e_ah[_lhgghc�ih^ihjghc�kl_�
gu��hij_^_eblv�mkbeby�\�__�we_f_glZo�� 
 
     7.1. JZkq_l�mklhcqb\hklb�kl_gu�ijhlb\�k^\b]Z��jbk����� 
      
�����M]he�gZdehgZ�iehkdhklb�h[jmr_gby�hij_^_ey_f�ih�nhjfme_�������]jZ^� 

                                  θ = 45 - 
2

26
 = 32. 

�����<_k�]jmglZ�\�dhglmj_�″abc″�k�dhwnnbpb_glhf�gZ^_`ghklb�ih�gZ]jmad_�Nn = 
����b��γ′|� �����lk�f �  
                                 p| ⋅ 1,1 = 13,8 ⋅����� ������lk� 
 
�����H[sbc�\_k�]jmglZ 
        
                                 G]j� ������������� �������lk� 
 
                                                                                                               
                                                                                

 

Jbk�����JZkq_lgZy�ko_fZ�d�hij_^_e_gbx�h[s_c�mklhcqb\hklb�

kl_gu 
I—�i_j\uc�kemqZc�k^\b]Z��2—�\lhjhc�kemqZc�k^\b]Z�� 
3 —�lj_lbc�kemqZc�k^\b]Z 
 

�����Kh[kl\_gguc�\_k�kl_gu�k�dhwnnbpb_glhf�gZ^_`ghklb�ih�gZ]jmad_�Ng� �����b�
γg� �����lk�f �   
��������*kl� �320,9 + P30,9 = 5,4 ⋅ 0,9 + 4,2 ⋅����� ������lk� 
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����Dhwnnbpb_gl� ]hjbahglZevghc� khklZ\eyxs_c� Zdlb\gh]h� ^Z\e_gby� ]jmglZ�
hij_^_ey_f�ih�lZ[e�����ijbe�����[1] :     
                λ]  = 0,39(δ = ϕ′| = 26°;    ε = θ �  = 32°;      ρ =  0). 
     =hjbahglZevgmx�b� \_jlbdZevgmx� khklZ\eyxsb_�bgl_gkb\ghklb� Zdlb\gh]h�
^Z\e_gby�]jmglZ�gZ�]em[bg_���f�k�dhwnnbpb_glhf�gZ^_`ghklb�ih�gZ]jmad_�Ng 
 ����hij_^_ey_f�ih�nhjfmeZf�����b����� 
                      σ] = 0,39 ⋅ 1,1 ⋅ 6 ⋅������ ������lk�f �  ; 
                      σ\ = 4,38 tg (32° + 26°�� ������lk�f �  . 
�����=hjbahglZevgmx�b�\_jlbdZevgmx�khklZ\eyxsb_�Zdlb\gh]h�^Z\e_gby�]jmglZ�
hij_^_ey_f�ih�nhjfmeZf�����b���� 

���������������������������?] = 
2

1
 ⋅  4,38 ⋅��� �������lk� 

���������������������������?\ = 
2

1
 ⋅ 7,01 ⋅��� �������lk� 

�����=hjbahglZevgmx�b�\_jlbdZevgmx�khklZ\eyxsb_�Zdlb\gh]h�^Z\e_gby�]jmglZ�
hl� jZ\ghf_jgh� jZkij_^_e_gghc� gZ]jmadb�� jZkiheh`_gghc� gZ� ih\_joghklb�
ijbafu�h[jmr_gby�k�dhwnnbpb_glhf�gZ^_`ghklb�ih�gZ]jmad_�Ng� ������hij_�
^_ey_f�ih�nhjfmeZf������b����� 
                            σT] = 3 ⋅ 1,2 ⋅������ �����lk�f �  ; 
                            σT\ = 1,4 tg (32° + 26°) = 2,24 lk�f �  . 
     =hjbahglZevgmx�b�\_jlbdZevgmx�khklZ\eyxsb_�Zdlbgh]h�^Z\e_gby�]jmglZ�
hl�gZ]jmadb�T�hij_^_ey_f�ih�nhjfmeZf������b����� 
�����������������������������������?T] = 1,4 ⋅��� �����lk� 
�����������������������������������?T\ = 2,24 ⋅��� �������lk�� 
�����JZkq_l�mklhcqb\hklb�ih^ihjghc�kl_gu�ijhlb\�k^\b]Z�ijhba\h^bf�^ey�lj_o�
agZq_gbc�m]eZ�β: (β1 = 0; β2 = 0,5ϕ|; β3 = ϕ|). 
                                 1 -�c�kemqZc��β = 0) 
�����K^\b]Zxsmx�kbem�hij_^_ey_f�ih�nhjfme_����� 
��������������������������Lk^� ������������� �������lk� 
�����IZkkb\gh_�^Z\e_gb_�]jmglZ�hij_^_ey_f�ih�nhjfme_������ijb�λi� ���ijb�dh�
wnnbpb_gl_�gZ^_`ghklb�ih�gZ]jmad_�kg = 0,9 

����������������������?i = 
2

1
 ⋅ 1,7 ⋅ 0,9 ⋅ 1,5�  ⋅��� �����lk� 

     Cmffm�ijh_dpbc�\k_o�jZkq_lguo�kbe�gZ�\_jlbdZevgmx�iehkdhklv�hij_^_ey�
_f�ih�nhjfme_����� 
                   N� ������������������������������ ����lk� 
�����M^_j`b\Zxsmx�kbem�Lm^�hij_^_ey_f�ih�nhjfme_������ijb�ϕ|′′ 
�������������������Lm^ = 58 tg (29° - 0°��������� �������lk� 
�����Ijh\_jy_f�mkeh\b_�ih�nhjfme_����� 

                  
L

L

m^

k^

  = 
54,21

52,33
 = 1,56 >������mkeh\b_�\uiheg_gh�� 

 
                                 2 -�c�kemqZc��β2 = 0,5 ⋅ ϕ| = 14°30′) 
Lk^� �������lk 
�����Dhwnnbpb_gl�iZkkb\gh]h�^Z\e_gby�λi�hij_^_eyxl�ih�nhjfme_����� 
                   λi + tg�  (45° + 14°30′) = 2,88. 
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�����IZkkb\gh_�^Z\e_gb_�hij_^_ey_f�ih�nhjfme_������k�dhwnnbpb_glhf�gZ^_`�
ghklb�ih�gZ]jmad_�kg = 0,9 

����������������������?i = 
�

�
�� � � � �� � ���� � � �⋅ ⋅ ⋅ � ������lk� 

�����Kmffm�ijh_dpbc�\k_o�jZkq_lguo�kbe�gZ�\_jlbdZevgmx�iehkdhklv�hij_^_ey�
_f�ih�nhjfme_������k�mq_lhf�]jmglZ�\�dhglmj_�³def́ �k�dhwnnbpb_glhf�gZ^_`�
ghklb�ih�gZ]jmad_�kg� �����b�γ|� �����lk�f� : 
              Σ�Ji = 58 + 1,01 9,3⋅ 19,08,15,0 ⋅⋅⋅⋅  ������lk� 
�����M^_j`b\Zxsmx�kbem�hij_^_ey_f�ih�nhjfme_������ijb�ϕ| = 29°: 
�������������Lm^ = 61,2 tg (29° - 14°30′��������� �������lk� 
�����Ijh\_jy_f�\uiheg_gb_�mkeh\by�ih�nhjfme_������ 

      
L

L

m^

k^

 = 
54,21

55,30
 = 1,42 >������mkeh\b_�m^h\e_l\hj_gh�� 

 
                                  3 -�c�kemqZc��β3 = ϕ| = 29°) 
������������������������������������������Lk^� �������lk� 
                                             λi = 2,88; 

��������������������?i = 8,1
2

1
9,0⋅ ⋅⋅ 364,3 ������ ����lk� 

        �������������������������Lm^� �?i� ����lk� 
�����Ijh\_jy_f�\uiheg_gb_�mkeh\by����� 

          
L

L

m^

k^

 = 1,43 >������mkeh\b_�m^h\e_l\hj_gh�� 

�����Mklhcqb\hklv�kl_gu�ijhlb\�k^\b]Z�h[_ki_q_gZ� 
 
                             7.2  JZkq_l�mklhcqb\hklb�hkgh\Zgby��jbk����� 

 
�����JZkq_l�\_^_f�ih�i_j\hc�]jmii_�ij_^_evguo�khklhygbc� 
�����KmffZ�ijh_dpbc�\k_o�kbe�gZ�\_jlbdZevgmx�iehkdhklv�∑Ji� ����lk� 
�����KmffZ�ijh_dpbc�\k_o�\_jlbdZevguo�kbe�hlghkbl_evgh�hkb��ijhoh^ys_c�q_�
j_a�p_glj�ly`_klb�ih^hr\u  

          ∑�JiLi = P1 1,7 + P2 1,13 +P3 0,1 + P4 0 - E\ 0,98 -�?g\ 0,5 =    
          = 1,08 ⋅ + ⋅ + ⋅ − ⋅ − ⋅� � � �� ��� � �� �� �� �� � �� �� �� � �� � � � � � � � �  = -������lk ⋅f . 
�����KmffZ�fhf_glh\�\k_o�]hjbahglZevguo�kbe�hlghkbl_evgh�lhc�`_�hkb 
     Σ Lizi = E]2 + Eq]3 = 13,44⋅ + ⋅� � � �� � �������lk ⋅f . 
�����<_ebqbgm�wdkp_gljbkbl_lZ�ijbeh`_gby�jZ\gh^_ckl\mxs_c�\k_o�kbe�hij_�
^_ey_f�ih�nhjfme_����� 

������������������������������������_� 
58

48,5161,19 +−
 =������f� 

�����Ijb\_^_ggZy�rbjbgZ�ih^hr\u 
                            _  �<�-��_� �����- 2 76,257,0 =⋅ �f� 
�����Dhwnnbpb_glu�g_kms_c�kihkh[ghklb�]jmglZ�ijb�tg ϕ|  = tg 29°� ������b�k| = 0 
ih�lZ[e����[1] 
                              λγ = 7;     λq = 16. 
�����Dhwnnbpb_glu�\ebygby�m]eZ�gZdehgZ�gZ]jmadb�ih�nhjfmeZf����� 
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                             iγ = ( )3

58

54,21
1 −  = 0,25; 

                             iq =( )3

58

54,21
7,01−  = 0,4 lk. 

     ;_ajZaf_jgu_�dhwnnbpb_glu�hij_^_eyxlky�ih�nhjfmeZf���0) 
�������������������������������������:1 = 7 75,1125,0 =⋅⋅ ; 
�������������������������������������<1 = 4,614,016 =⋅⋅ . 
�����G_kmsZy�kihkh[ghklv�hkgh\Zgby�ih�nhjfme_����� 
          Φ = ⋅ ⋅ + ⋅ ⋅ + =� �� � �� � �� �� � � �� � � � ��� � � � � � � � � lk� 
�����Ijh\_jy_f�mkeh\b_����� 

           N� ����lk� 5,61
2,1

74

`
==Φ≤ �lk��mkeh\b_�m^h\e_l\hj_gh� 

�����Mklhcqb\hklv�ih^ihjghc�kl_gu�h[_ki_q_gZ� 
 
                       

7.3 JZkq_l�hkgh\Zgby�ih�^_nhjfZpbyf��jbk����� 
 
�����JZkq_l� \_^_f�ih� \lhjhc� ]jmii_�ij_^_evguo� khklhygbc� k� dhwnnbpb_glZfb�
gZ^_`ghklb�ih�gZ]jmad_��jZ\gufb�_^bgbp_��b�k�oZjZdl_jbklbdZfb� ]jmglZ�hk�
gh\Zgby�ϕ|| = 27°; γ||� �����lk�f�b�]jmglZ�aZkuidb�ϕ′|| = 27°; γ′||� �����lk�f� . 
�����JZkq_lgh_���^Z\e_gb_���gZ���hkgh\Zgb_�h��ij_^_ey_f��ih��nhjfme_��������]eZ\u� 
KGbI��������-���©Fhklu�b�ljm[uª�ijbe����� 
 

         R = ⋅⋅⋅
bA(

k

mm

’

21  γ|| + B ⋅ h|| ⋅ γ′|| + D ⋅ c′|| - γ′|| ⋅ hc). 

     Ih�lZ[e�����]eZ\u�KGbI��������-�����ijb�ϕ|| = 30° 
���������:� ����������������<� ������������������D = 7,95. 
�����HklZevgu_�oZjZdl_jbklbdb:   kg = 1,0;  1m = 1.0;  2m  = 1,0;  =0h  0; 

K i � �����f����b� �����f� 

      R =  27)0095,77,15,159,58,19,315,1(
1

12,1 =−⋅+⋅⋅+⋅⋅⋅
lk�f 2  

�����Dhwnnbpb_gl� ]hjbahglZevghc� khklZ\eyxs_c� Zdlb\gh]h� ^Z\e_gby� ]jmglZ�
hij_^_ey_f�ih�lZ[e�����ijbe����[1].   
     λ] = 0,38 (δ = ϕ′|| = 27°;  ε = θ0 = 31°30′;  ρ = 0). 
�����M]he�gZdehgZ�iehkdhklb�h[jmr_gby 

                           θ0 °=°−°= 31
2

27
45 30′. 

�����=hjbahglZevgu_� b� \_jlbdZevgu_� khklZ\eyxsb_� bgl_gkb\ghklb� Zdlb\gh]h�
^Z\e_gby� ]jmglZ� hl� \_kZ� ]jmglZ� b� hl� jZ\ghf_jgh� jZkij_^_e_gghc� gZ]jmadb� 
jZkiheh`_gghc�gZ�ijbaf_�h[jmr_gby��hij_^_ey_f�khhl\_lkl\_ggh�ih�nhjfm�
eZf����������b����������� 

                         σ] = 88,338,067,1 =⋅⋅ �lk�f � ;  

                         σ\ = 3,88 tg (31°30′ + 27°�� �����lk�f� ; 
                         σq] =  44,138,03 =⋅ �lk�f� ; 

                         σq\ = 1,14 tg (31°30′ + 27°) = 88,1 �lk�f� . 
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�����=hjbahglZevgu_�b�\_jlbdZevgu_�khklZ\eyxsb_�Zdlb\gh]h�^Z\e_gby�]jmglZ� 

                                        62,11688,3
2

1
E] =⋅⋅= �lk� 

                                         2,1964,6
2

1
E\ =⋅⋅= �lk����� 

                                         84,6614,1Eq] =⋅= �lk� 

                                         28,11688,1Eq\ =⋅= �lk� 

�����KmffZ�ijh_dpbc�\k_o�kbe�gZ�\_jlbdZevgmx�iehkdhklv�hij_^_ey_f�ih�nhj�
fme_����� 

      N� ��������������������������� �������lk 
�����KmffZ�ijh_dpbc�\k_o�\_jlbdZevguo�kbe�hlghkbl_evgh�hkb��ijhoh^ys_c�q_j_a�
p_glj�ly`_klb�ih^hr\u� 

     
f  l�915,90,511,20,9819,00,14,1,135,1,71,1

0,5E0,98E0p0,1P1,13P1,7P=lP q\\4321ii

⋅−=⋅−⋅−+⋅+⋅+⋅=

=−−+++Σ
  

KmffZ�fhf_glh\�\k_o�]hjbahglZevguo�kbe��hlghkbl_evgh�lhc�`_�hkb 
 
      f× ll76,43384,6262,113.2EzL q]]ii ⋅=⋅+⋅=+=Σ  

����������<_ebqbgm�wdkp_gljbkbl_lZ�ijbeh`_gby�jZ\gh^_ckl\mxs_c�\k_o�kbe�hi�
j_^_ey_f�ih�nhjfme_���9) 

                                 505,0
55,04

27,77
=e = �f� 

DjZ_\u_�^Z\e_gby�gZ�]jmgl�ih^�ih^hr\hc�kl_gu�hij_^_ey_f�ih�nhjfme_����� 

                                  
fbg

fZdk
P  = 




 ⋅±

⋅ 9,3

505,06
1

19,3

04,55
 

  
                               2

fZdk  llk�2,25J =  < 1,2 R = 5,327,22,1 =⋅ �lk�f� . 

                                  1,3Jfbg = �lk�f 2  > 0. 
�����Kj_^g__�^Z\e_gb_�gZ�]jmgl 

                                   1,14
9,3

04,55
Rkj == �lk�f 2  < R� ����lk�f� . 

�����JZkq_l�hkgh\Zgby�ih�^_nhjfZpbyf�m^h\e_l\hj_g� 
�����GZ� hkgh\Zgbb� ijh\_^_gguo� jZkq_lh\� jZkkfZljb\Z_fZy� ih^ihjgZy� kl_gZ�
m^h\e_l\hjy_l�\k_f�ij_^ty\ey_fuf�lj_[h\Zgbyf� 
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Ebl_jZlmjZ 
 
1. KGbI� �������-���� Fhklu� b� ljm[u�� Ghjfu� ijh_dlbjh\Zgby�� =hkkljhc�

KKKJ��F������� 
2. KgbI� �������-���� �Hkgh\Zgby� ao^Zgbc�b�khhjm`_gbc��=hkkljhc�KKKJ��F��

1986. 
3. Jmdh\h^kl\h� ih� ijh_dlbjh\Zgbx� ih^ihjguo� kl_g� b� kl_g� ih^\Zeh\� ^ey�

ijhfure_ggh]h�b�]jZ`^Zgkdh]h�kljhbl_evkl\Z��F�Kljhcba^Zl������� 


